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Interpolation

Problemstellung:
GegebenKoordinaterbeliebigerPunktevon beliebigerAnzahl
GesuchtPolynomfunktiondie durchdiesePunkteverlauft

EsgibtimmereineLdsung.

Erster Algorithmus:
Lagrange Interpolation

n
Pol yFun[xl _, yl _]:=Mdul e[{n = Length[xI ]}, Expand[Zyl [1xP [xl, n1]]

i=1

(I'I};i x=xI D)) * (T, x=-xI T 1))
(Hj'i KIOT-xIGD)* (T, KITT-xI [ 1))

P [xlI_, n_]:=

Pol yFun[{2, 6, 4, 8, 0.3, 9}, {5, 13, 7, 5, 9, 2}]
7.83275+6.11543 x - 8. 2723 x2? +2.97382x3 - 0.395377 x* + 0. 0175335 x>
Plot [% {x, -0.8, 10}]
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Zweiter Algorithmus:
Neville Interpolation

IP[{x1_}, {y1_3}1:=vy1

IP[{x1_, X, xn_}, {yl,vy__,yn_}]:=
I PL{X xn}, {y, yn}]* (x -x1) -1 P[{x1, X}, {yl, y}]1* (X-Xxn)
Expand[ V]

]
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IP[{2, 6, 4, 8, 0.3, 9}, {5, 13, 7, 5, 9, 2}]

7.83275+6.11543 x - 8. 2723 x2 +2.97382x3 - 0.395377 x* + 0. 0175335 x>

| PPl ot [X_List, Y_List]:=
Modul e[{}, Plot [I P[X, Y], {x, -0.8, 10}, Epilog - {RGBCol or [0.23, 0.56, 0.2],
Poi nt Si ze[0. 02], Table[Point [{X[i ], YIiI1}1, {i, 1, Length[X]1}1}1]

IPPlot[{2, 6, 4, 8, 0.3, 9}, {5, 13, 7, 5, 9, 2}]
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- Graphics -



